1) Draw a structural formula to represent the
products formed from the addition reaction of
Cl, and CzHs below: i N '
po—C—C—H

2) Which is a product of ago:ndensa%ic\m reaction?
A. Oz,
B. CO2
C. Hz

3) An alcohol and an organic acid are combined to
form water and a compound with a pleasant odor.

This reaction is an example of

A. saponification
esterification
C. polymerization
D. fermentation

4) Which type of reaction is formed by removing
water?

@ condensation polymerization
B. addition polymerization

C. esterification

D. saponification

5) Which equation represents a substitution

— - Ly rodetds

reaction? R L

-5V oM
evAor

A. CH4 +202 — CO2 +2H20
B. C2H4 + Br2 — C2H4Br2
C. C3H6 +H2 — C3H8
CAH10 + CI2 — C4H9CI + HCI

6) The products of condensation polymerization are
a polymer and

A. carbon dioxide
@ water
C. ethanol
D. glycerol
7) Given: CgHi206— 2C;Hs0H + 2C02
The chemical process illustrated by this equation is
@ fermentation
B. saponification
C. esterification
D. polymerization
8) One of the products of a fermentation reaction is
@ an alcohol
B. an alkane
C. asalt
D. anester

9) Which is the product of hydrolysis of an animal
fat by a strong base?

A. water

B. gasoline

@. soap

D. toluene

10) Nylon, starch, and cellulose are products
formed as a result of

A. oxidation
B. fermentation
C. substitution

@. polymerization
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swer Practice

ase your answer to the question on the information below.
 artificial flavorings are prepared using the type of organic reaction shown below.

GhC-0H +(HO-C-C—C—H —> H-CKC-03C-C—-C-H + HoH
I - H HH H oA
{Roactant 1 Reactant 2 ey

hat is the name of this organic reaction?
L s3eri B cahen
1o what class of organic compounds does reactant 2 belong?

Al csho |

2) Basg your answer to the question on the equation below, which represents an organic compound
. |reacting with bromine.

#HA T Y VIR
G—L'!:—-H + By —> H-(‘J—-(].‘.—?—H
H Br Br H

A._':_' What is the [UPAC name for the organic compound that reacts with Bry?

| = prop-<ne

ﬁ*«(‘-x{?-\

_The equation below represents the reaction between butanoic acid and an unidentified reactant, X

1 4(S LINg
H=G—C—C C—OH + X —»> H—cl:—(lz—tlz—c—o—(lz—c’:—l-l + H—0—H
H HH H HH I!I I!I

A. | Identify the type of organic reaction represented by the equation.
L2 : E snE&s ahon
.“Name the reactant used.

Al butans'c Aud




.,
4) Base your answer to this question on the information below.
Glycine, NH,CH2COOH, is an organic compound found in proteins. Acetamide, CH3CONHy, is an organic

compound that is an excellent solvent. Both glycine and acetamide consist of the same four elements, but the
compounds have different functional groups.

group in a glycine mol' ule.
p glyci ec (N“t)

A. Identify one
“-\ ?( -Anbre
N,— or
H/ /i. - ortence AL (c,oo\-%}

Base your answer to this question on the informatiofi'below.

In one industrial organic reaction, C3Hs reacts with water in the presence of a catalyst.
This reaction is represented by the balanced equation below.

H H H H H

I | catalyst P
H-—CI:—(I'}=C—H + H,0 H—?—C|>—C13—H

H H H OH H

A. Explain, in terms of bonding, why C3Hs is classified as an unsaturated hydrocarbon.
Un J&W(W(t \)/c, W+ el o Aoubl( o

B. Write the [UPAC name for the organic reactant.

| -proptne

C. Identify the class of compound to which the product of the reaction belongs.
Al cohe)

" veunat
6) Given the compound below, draw two isomers. ( J Ay / D-Ckred I "'&aﬂc)
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